Math 2568, Qu

1. Determine if the two vectors are orthogonal, using the indicated inner product.
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b. The vector [X]; using the methods for an orthogonal basis.

('}( = Z__“'._____L——__‘Yj ==
Cs
C'/L = ‘*j + %5 €0
C3 = ':,2:_:?:__4(’ i
_.;-)
- L‘

iz #14, Fall 2013

Name

e lafeeee

— = =0

Sl J(;\u l-*“’(“‘k

z

P
(&,

x) = sin 3x, g(x) = cos 3x, ( flg
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Instructions: Show all work. Use exact answers urjless specifically asked to round.
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he orthogonal basis for the space R3 = {

natrix U such that the columns are orthonormal.
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